5/20/2015 Print Test

PRINTABLE VERSION

Quiz 12

You scored 100 out of 100

Question 1
Your answer is CORRECT. cosexd =1 = Lo,am]

' i X=0, 2T
Solve cos(4x) =1 onthe interval [0, "4 ]. $x=p+ 20T 4y =24
= = L A
a) x=0_ x=Ty X ;*%k X=E+3k

b)  x=Tx =0 E

= - P S
K=l X= T lrepesd) X=2T - qr

¢)  x=0, X="/3

d x=0

f)  None of the above.

Question 2
Your answer 1s CORRECT.
Solve Cos (x>0 =™ Lo, 2]
cos(7x) =0 x= T 5.1_5

on the interval [ O, 27t/7]

L x=Tramke Ix= & rarke
a)  x="g o W X= T 42k = 3W ¢+ 2Arke
by x=Ty Xz L + 4Tk %= 3T  4mic
d  x=0 x:2“/7 K=\ X= S“'/H_X X= -"'IT/.*X

@ x="74, x="N4
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f)  None of the above. o L"[b\ _- E
Question 3 ton ()= -_L _ -E 3
Your answer 1s CORRECT. -/ V2 refo= T

Solve cot(x) =-V3 onthe interval [0, 2m). : a @

a) x=Txs x= 44 1'“-1:'.'

by x=T4 x="Ty X = 5

X=IT
@ Y 57t/6 y_ lln/6 /lo

d)  x=" x=%

Q) x=Tp x=""%

f)  None of the above.

Question 4
Your answer is CORRECT. v
X
Solve
cos?(x) =1
over the interval | -5 , 7 |
Coscx) =T\ i
N z
%% CosX=| CosxX= -
a) Z
o
|
by o 2
[ 1
c) 1 |:|, ? m
D
[-1nlyg
e) 2
Question 5
Your answer is CORRECT.
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SOlve . \/ o'-z-n-

6 siti(x) cod (x) =6 sin(x)

on the interval [ -2m, 0 ] bsinLX COS2X) - b SN = O

i 3 1 1 ("5“'\0&) (Coszcx\-\\ = 0O
%-IE,—IEQ cqs‘_( -

a) | J b Sintx) =0 x)_t_o

b) Ao Solution S\n(xX) =0 Cos *(x) = |

f \ [X= o,-"f;-’-“"l Z v

lo,-m, -Lxl Caa=1 SO0 -

90 xeo,w| [x:-am)

:;D,—iﬂ:,—l—ﬂ:}

2 2

d)

@ {0, -2x, -n)

Question 6
Your answer 1s CORRECT.

Solve /.

sin(2x)=-Tcos(x)

sin (2X) = 25N (X)CoS Q)

on the interval [ 0, 27 |. 25in(X) Cos (X)) + Feos O
Los =0

sy 25in 0 +F) =0

2) {x=0,x=m)
3 Cos (X)) = o 2"nX) + 7 =o
T=
b) ’ X= W2 Zsin00) == 7
) Mo solution X= 3‘72_ Sin(X) = '1'/2 R['\' '3
1 No soLutioN
X
d) 4
15.‘1' = ? m.x= ? Mt
Question 7
Your answer 1s CORRECT.
Solve

7sir12(x) = 7c052(x)
over the interval | -7, 7 |.
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. ™ /7
. L Fsin* ) =’f'¢.ns"oc) —-rr\/
r e M e M L — ’_/
CE A Fosipn @it
[ 1 5 7 11 ]
o lZ 2 T " O A
Vi N
X = -31]'/‘*
(2 I
oo T 3t amET X = /4
[0 8w el
e) 1 ﬁfﬂ:, ﬁﬂ,ﬁﬂ:,ﬁﬂ:
Question 8
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).
i ;
da (x)+ 12an (x) —7=0

a) x="p (ZS('\L&) - )(‘l’v\x + + ) o

Hn6 2sinx =1 SinXx=-9 & E""I‘]
NoT PosSiBLE

SinX= '/2..

) x="T5 x= Ty

f)  None of the above.

Question 9
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 27).

2 n:c:-s2 (x] +cos(x)—1=0
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x="s x="T4 Xx=g (Zwud -1 )leso + 1 )0
CosN+I1 =0

¢ x=0 2cos X-1=0 o
. m _1l=n _
) x="h, x= Tk, Yo Costd = V2 @
e)  X=0 xzzn/3) x= 4, K= "3
b & Sr/3
f)  None of the above.
Question 10
Your answer 1s CORRECT.
Solve the following equation on the interval [0, 2w ).
4n (B2 4 stn2()= 3
a)  x=Tx x= T4 Sin3(y=_3_
> “
b) x=Ty4 x=1T Sine = X V3
\E]
@ X = ”/3’ X = 2“/3, X = 47t/ | X= 57‘/
S\n(X):= T 3
d) x=Tp x="T x= "% x= 1T 2
T Sn Xz “733 211731 Tr/sj 511-/

f)  None of the above.

Question 11
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

n::c:-s2 (x]=-cos (x)

Cos2(0 + os () =0

Cos ) (st =0

Cos W) =0 Cos () = -1
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f)  None of the above.

Question 12
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

2

s (x) = —sim (x)
a) x=0, x=nx sintD+rsin(x) o
b) x_ 3n/2 Sin (X) (sir\UO +1) =0
Sin X =0 SinlX) *\=0
O x=Ty x="T sing= -l
= 3T
d  x=0, x:n/zj X =g X /2_
3n
X=0’ .7(:=T[J X = /2
f)  None of the above.
Question 13
Your answer is CORRECT. /, sih (2X) = Ji.

Solve the following equation on the interval [0,2m): csc(2x)=2 (1D Sin (%)

- 5 13 17 Ny
x="Ay, x="Thy x="Tsp x=""Tyy [_‘;-’1 2
)

| 2=

11n 197 23n 2x= XL

b) x= "My ox= T, xo 9, xo By, L t2mk

¢ X="T4, X=""/

d)  x="% x="T 2 2

11 13 23 K=o =
e)  x="/2 X= TAa Xx= """y x="T/

> >

f)  None of the above. K= 2 X =

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm



5/20/2015 Print Test

Question 14
Your answer 1s CORRECT.

Solve the following equation on the interval [0, 2m).

sin(x+%) =2

vem, ¥=

b) 5w n

f)  None of the above.

Question 15
Your answer 1s CORRECT.

Solve the following equation on the interval- [ 0, 27 ].

sin (x/2 - 7t/3) = 1/2

“_11' - 1—0
%TE FN 3--(—':1-2-“‘“
2) ts tT,
m X . &2w
® 2T e Ttk
& N &)
¢)
X = bW 4k
1 G
—
d 3 X3 bw o+ THT

K=o

k=1 X = 3o, X
f) ~ None of the above. /"

Question 16
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o
~L5,%

AL ]

sinx-;-’r':/a_ - [a,z-rrl
Xz Sy x= 74
Ki—% z ?.l“."i-lrlc
" "4

Xz b7 ink
prS

Xz bW STk
o

4‘.
X = pr- 43m
L n 2

X2 = ”‘1\'/(‘ e

2 3 %
*7)s +T/3
X -
2 o "i':-l:'t 2mric

a- X AIT apie)
2= b
% 2 1T vl
&

X = 41T + i<

L (P
X= "m/(, X
X = :.21:'/“'&
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Your answer 1s CORRECT.

Solve the following equation on the interval [0, % V_’

2 sin [4;;—%11:]:—\{3

Print Test

[& L
32., 32
G S = ) 4y-X - ST axk
® M7 S 3 4
Ts s
2 7
= mox=—— RTL
ol 327" 32" = G rg e
':}-Et W 4 2mwie
PSS g ¥
¢) 64 " 64 ‘+
XT3
x=—Lmx=—lp 2%
d) 32 32 X= I_\;_: ,!JLI'_I_"‘_
2
_3 . ..15) k=o [x=om
e) = 35 mx= 3ETE I 32
K: x' = ‘2'1"- K
f) = None of the above. 32
Question 17
: 1
Your answer is CORRECT. C L34, %)

Solve the following equation on the interval [0, %5 ). /’

2 Cos [Ex——*ﬂ:]=ﬁ
iﬂ: Zx'E-'-' {-1— arwi<
a) = +I %
“ “
g 2x= 2T, 3w Lk
b) 4 1z l2
2%+ S'-E-t-urk-
lTE 3= .;_r‘l'"l‘
¢) 5 X 244
= m
i - A
7
g o 24" kzo |x=
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f)  None of the above.

Question 18
Your answer 1s CORRECT.

Solve
7 sin® (x) + 14 sin(x) + 7 =0

on the interval [ 0, 2x |.
Fsin2d + 25inlO +1) =0

‘E%ﬂ:} T l-“'ﬂXTl \lﬁﬂ)&‘i‘l ) =0
..- 3 ¥ S\h ;g'H:D
f.D,?iT.
b) - - siny = -
(1. 3.] = 3w
0 %4 T, 3 5'1:‘_. b8 /2
;1_ 11
4 O 12 "]
e) iﬂ:‘;'
Question 19 shp) =l = Lo,ax )
Your answer i1s CORRECT. = T
=
Solve | v
Sil’l[?tx+[;—?t])=1 k"-'o X= L
over the interval [ “Y4, 24 ] - 13
% Tt T- Myark kel X oX
3 L% -
L3 2 koot = Vo
a) ¢ Tx = 3 - 2T 4ok
v o
1
b) 5 wX = '.Itl"_ + 2K
1_ X< % + Z.'I'K
@ 8 \ 12
X=3¢% ok
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| 3
g 0 47T
El
e) 6
Question 20
Your answer 1s CORRECT.
Solve the following equation on the interval [0, 2w ).
.2 ;
Zah (x)+2sam (x)—5=0

b)

d)

x=0
x="Tsh
s 3n

None of the above.

I VY=o

S\mx=1=0
ssin¥X= |

L.’)sinuﬂ + 5 )(sinp) -

3sinx + S=o0

SinX= =-S5 _
— ¢ -]
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